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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Gt ==t 21,682,000 26,621,000 A4,939,000
= 16,489,000
< 64,000
Al 5,129,000
MWEEs 21,682,000 26,621,000 24,939,000
= 16,489,000
< 64,000
Al 5,129,000
e AN XI&E (ot==1t) 21,682,000 26,621,000 24,939,000
= 16,489,000
< 64,000
Al 5,129,000
ot==SE3H N& dE 5,129,000 7,030,000 A 1,901,000
404 SIS =2HES 5,129,000 7,030,000 A 1,901,000
01 BIILEEIHN=2HES 5,129,000 7,030,000 A 1,901,000
OSt=SZ At ELESA XN& HES
4,929,000,000& * 14! 4,929,000
OFQEFOHU L BHHXNE BES 200,000
—Hon FEFF o=k W&
20,000,000 =14 20,000
—lHEs =2 SHIA 100,000,000 * 14 100,000
— s tH=2 JHES AL 80,000,000& =14 80,000
2005 BTLot=ZHEHIAIY HEEXS= 3,855,000 3,855,000 0
= 3,855,000
404 BB NH2HEZ 3,855,000 3,855,000 0
= 3,855,000
01 BIILELENHUNENES 3,855,000 3,855,000 0
02005 BTL St=2HAEUIAY HEREX=3
3,855,000,000& 14 3,855,000
= 3,855,000
as ZI=HelAE XA 1,878,000 930,000 948,000
= 1,878,000
404 SIIgH2HE= 1,878,000 930,000 948,000
= 1,878,000
01 BIILELEIHN=2HEES 1,878,000 930,000 948,000
Oas EJIR=XMelAld XA
1,878,000,000& 14 1,878,000
= 1,878,000
SHEb I E AT A 2,400,000 600,000 1,800,000
= 2,400,000
404 SIS MHENES 2,400,000 600,000 1,800,000
= 2,400,000
01 BIILELEIHN=2HES 2,400,000 600,000 1,800,000
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Ot +~EZE A& A
2,400,000,000& 14! 2,400,000
= 2,400,000
HolZ2 SteHMelEF AAHXE AIEAY 704,000 1,070,000 A 366,000
= 640,000
== 64,000
404 B2I|GNE2HEs=2 704,000 1,070,000 A 366,000
= 640,000
== 64,000
01 BIIEELEIAHN=2ETES 704,000 1,070,000 A\ 366,000
OEolZ dlx=Xel2F HAHAMel AIEAY
704,000,000 * 14! 704,000
= 640,000
== 64,000
20063 BTLot=2){EHIAIYE 22X 22 4,740,000 4,934,000 A 194,000
= 4,740,000
404 B2I1GNE2HE2 4,740,000 4,934,000 A 194,000
= 4,740,000
01 BIIEEEIAHN=2EES 4,740,000 4,934,000 A 194,000
02006 BTLotx=2HEHIAE HEXNZS2
4,740,000, 0003 *14] 4,740,000
= 4,740,000
20093 BTLSt=2){EHIAIE 32X 22 2,476,000 619,000 1,857,000
= 2,476,000
404 B NS2HE2 2,476,000 619,000 1,857,000
= 2,476,000
01 2L ELEIHN=2ANES 2,476,000 619,000 1,857,000
O2009E BTL ot=2HAEH Al 22
2,476,000,000& 14 2,476,000
= 2,476,000
ot &H S22 XY HU ALY 500,000 0 500,000
= 500,000
404 Z2I|gAN2dE23 500,000 0 500,000
= 500,000
01 Z2I)|IEELEIHIN=2ANES 500,000 0 500,000
Odlx==dHl &2l XY AL
500,000, 0003 *14] 500,000
= 500,000




